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I- (5 points)

In a certain store, 1 table and 6 chairs cost 2 700 000 LL, while 2 tables and 8 chairs, of the
same type, cost 4 600 000 LL.

1) a- Write a system of two equations modeling the above text.
b- Solve this system, then determine the price of a chair and that of a table.

2) After that, this store offered a 10% discount on the price of a chair and 5% discount on the
price of a table. Rami wants to buy 4 chairs and two tables during the discount period.

Calculate the amount that should be paid by Rami.

I1- (5 points)

There are 200 members in a certain sportive club.
These members are interested to practice Football, Basketball, both or none.
A member is selected randomly from this club.

Consider the following events:
F : «the member practices Football »
B : «the member practices Basketball ».

1) Complete the following table.

F [= Total

B 56 140
B 39

Total 200

2) Calculate the probability P(B) and show that P(BNF) = % :

3) Calculate the probability that the member does not practice football but practices
basketball.

4) Knowing that the member does not practice basketball, calculate the probability that he
practices football.



I11- (10 points)

Consider the function f defined over |—co;—1[ U ]-1;+ o[ by f(x)=x-2 Jri1 :
X+

and denote by (C) its representative curve in an orthonormal system (O;T,]).

1) a- Determine Iirr_11f(x) and Iirplf(x).
X< -1 x>-1
b- Deduce an equation of an asymptote (D) to (C).
2) a- Determine lim f(x) and lim f(x).

b- Prove that the straight line (d) with equation y = x — 2 is an oblique asymptote to (C).

3) Prove that the point 1(—1;—3) is a center of symmetry of (C).

1y
4) The representative curve (L) of f', the derivative of f, is ~
shown in the adjacent system. \3"1 ________ O
Use this graph to: y — > = 7o <

a- Determine f'(-2) and f'(0) .
b- Solve f'(x) <0.

c- Set up the table of variations of f.

d- Write an equation of the tangent to (C) at its point
with abscissa —2.

5) Draw (d), (D) and (C).
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ol Answers M
Let x be the price of a table and y that of a chair. The system is :
1 X+6y =2 700 000 15
2X +8y= 4 600 000
x =1500000; y=200000
1 | price of table is 1500 000 LL and that of a chair is 200 000 LL. 15
After discount:
2 The price of a table becomes 0.95x1 500 000 = 1 425 000 LL 9
The price of a chair becomes 0.90x200 000 = 180 000 LL
Thus Rami will pay : (4x180 000) + (2x1 425 000) =3 570 000 LL.
Qll Answers M
F E Total
B 84 56 140
1 B 39 21 60 1
Total 123 77 200
140 7 84 21
P(B)=—=—=0.7 ; P(BNF) = —=—.
2 () 200 10 (BAF) 200 50 1.5
= 56 7
P(FNB)=—=—=0.28
3 ( ) 200 25 1
P(FAB) 39 13
P(F—):—_:—:—:O.GS
4 Aa P(B) 60 20 15




Qlll Answers M
lim f(X) =—o0;and lim f(x) =+oo.
1a x—-1" x—-1" 1
1b The line with equation x =-1 is an asymptote to (C). 05
limf(X)=—o ; lim f(X)=+o.
2a X—>—0 ( ) X—>+00 ( ) 1
. . 1 . . 1
lim [f(x)—(x—2)]= lim ——=0and lim [f(x)-(x-2)] = lim ——=0.
b X—>—00 X—>—0 X 4+ 2 X—>+00 X—>+0 X 4 2 1
The line with equation y = x-2 is an asymptote to (C) at +ec and —ce.
3 f(2a—x)+f(X) =Ff(2x(-1)—x)+f(X) =—6=2x(-3)=2b .
43 f(-2)=0 and f (0)=0 1
4b f (x) <0 forx €]—2;-1[U]-1,0][ 1
X - Q0 -2 -1 0 + oo
Ac f(x) + o0 — — 0 4+
-5 T oo + oo 1
w7 Ny N p A
- 00 - o0
ad |Y=-0 is an equation of the tangent to (C) at its point with abscissa -2. 1
W 5
5 1.5
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